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6651
B. Sc./B. Ed. Part — I (Integrated) Examination, 2019

CHEMISTRY -1
(Inorganic Chemistry)

Time: Three Hours
Maximum Marks: 40

PART - A (@vs — 3]) [Marks: 8]
Attempt any four question.
The answer to each question should not exceed 50 words.
Each question is of 2 marks.
PIg GV J97 PIOTY | Fold Fo7 BT FTIY 50 ] 7 3ifEE 7 &/
qRIF 797 2 3 # &/
PART - B (gvs — §) [Marks: 12]
Answer any two questions out of three questions.
Answer should not exceed 250 words.

Each question is of 6 marks.

&7 g7l J W BIg &1 g7 BT ]
JoT @] IV 250 =] W B T &/
gcdd G977 6 3P Bl &/
PART - C (&vs — %) [Marks: 20]
Attempt any two question.
Answer should not exceed 300 words. Each question is of 10 marks.
PIS T FIT PIOTY | &P 97 BT GTY 300 I & SEH T &l

gcd F97 10 3F BT &/
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Q.1

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

Q.9

PART -A / Hvs —
Why ionic compounds are solid?
it A 3 9l B 87
Name six Noble gases that occur naturally.
UIHiad wU # a9 arell B Aftma 6 & 9 faRad |
Why is BiHj3 the strongest reducing agent among all the hydrides of Group 15 elements?

HE 15 & ddl @ BIsgigs! ¥ A BiH; 999 Joelell ARG fAHRES RT 5?7 HIROT T
DI |

Give a brief account of Fullerene.

HeRF & IR ¥ wfera 7 forlkad |

What is polymorphism? Why are group 16 elements called polymorphic elements?

TEHUCT T 8?2 YU 16 S ocdl DI Ig0URI Tcd R Hal Sl 87

Write name and electronic configuration of first two elements of group 16.

AIE 16 @ YIH &I dcdl & A UG DT gelagi-id fa=md falad |
Identify the acids and the bases in each Lewis acid base reaction:

(a) CaO + CO; — CaCOs3
(b) BeClz+2Cl — BeCly

TS s YIS o9 IIMWfhar # ofe 9 &R &I ugam ae folRad—
(a) CaO + CO2 — CaCOs3

(b) BeCl2+2Ct — BeClas

Why is Ammonia a good solvent?

IR Uk 3T faaras Rt 287
PART -B / @vs — ¢

What is the basis of Valence Shell electron repulsion theory? Why do lone pairs have

more repulsion? Give example.

Il Tl ol UfTmyor RIgr &1 MR &7 &7 RIFAa Selagid Sifts & 4 SaraT
OfIByoT - BIAT 87 IaTERY AT |
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Q.10 What are S-block elements? Write their name and electronic configuration. Also write

characteristics of S-block elements.

S — @i dd FT 22 7 A AHEIR (R | SHHT gelagii-id ffa=ary S 9 g
dcdl a1 faRmaril & qarsdy |
Q.11 (a) What is the order of acidic strength of HPO», H2PO3, and H3PO4 and why so?
HPO;, HoPOs, Td H3PO4 ¥ 31T Uil &1 HH (59 UBR & Ud A P il 67
(b) Draw the structures and write the names of these three oxyacids- HPO», H,POs3,
and H3POq, .
g9 1 3T ’rli HPO», HoPOs, and H3PO4 & A8 @ GReET BT I8y |

PART-C / Hvs — 9§

Q.12 What is Fajans’ Rule? How does it help in explaining “The Melting point of KC{ is

higher than that of AgC{ though the crystal radii of Ag* and K* ions are almost same”.

WOl T Fgd =7 2?2 I 59 a9 bl GHeH H fhd geR deEe € fb KCLwr Teie

AgCLI¥ Sarer 8, S/afdh Agwd K i @ e X<T$ o o914 2 |

Q.13 Why are Group 17 called Halogens? What are the common characteristics of Halogen
Group in Periodic Table? Write some uses of Halogens.
HE 17 B Al g Bal Sl 87 sallor g &I URAINEH caa § AM= faRivarei &1

qdTsy Ud gellol- EASERIE ERIERN

Q.14 (a) What does Bronsted Lowry Acid and base mean? What is the difference between

the Arrhenius and Bronsted Lowry definition of an acid? Explain with examples.

TRCS ISy 3T Ug &R 3 T I 272 31T Bl IR Td g1_cs sy gy

H R IR 27 IEERV gRT W PR |
(b) What is the difference between Bronsted acid and Lewis acid?

TR 37 T4 o< 37T H 7 3R 27
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